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B. A. (Part I) EXAMINATION, 2019

SPORTS AND PHYSICAL EDUCATION
Time : Three Hours | | [ Maximum Marks : 100

Note : Write the correct alternative of the following 2 : fwfaRe sgRwely vl & w8 R Jm

multiple choice questions on your answer IR T W A S gl v 7 3D
sheet. All questions carry equal marks, TE £

1.  Which is not the law of leamning ? . 39 s o g g g ?
(A) Law of readiness (A) JAN @1 Frm
(B) Law of effect | (B) W@ &1 fagw
(C) Law of reaction (C) i & faam

’ (D) Law of exercise (D) 3N @ fFraw _
2 NoofWBCmahéalmW T2, W WA MR T IR EO e

" TA) T5000-9000/cubic mm (A)  5000-9000/cubic mm
(B} 7000-11000/cubiec mm (B) 7000-11000/cubic mm
(C) 1000-10000/cubic mm . (C)  1000-10000/cubic mm
(D) None of the above . (D) S94E # € Pig A8

3. Largest gland of the body : 3 TR PR o T
(A) Liver A) g
(B) Heart B &3
(C) Stomach - - (C) RN
(D) Kidney O T

4. Which of the following is not included in the 4. fiw ey 9reT o wra I wRem g
definition of ‘Health’ of W. H. 0. ? frefefad & ¥ S1=-w1 amam witer 78 2 9
(A) Physical (A) THRING
(B) Occupational (B) ZI%W
(C) Mental (C) RS
(D) Social (D) W
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“Law of the affect™ is 1o keovn us
{(A) Law of readiness

(B} Law of exercise

(Cy Law of satisfichion

1) Newtan’s law

*Smash’ is belongs 1o}
{A) Kubuddi

(B} KhoKhe

{C) Volleyball

(D} Athlctics

Heart di~ease iz due to

" (A) Heredity

10,

11.

5001

(B) High Blocd Pressurs

(€Y  Buth{A)und {B)

{Uy Nons vl lhe above

‘International Yug Day' is celebrated on ;

(A) 21 June - -

(B) 12 June - -

{C) 21 Apsil

(D) 12 April

Unhealthy eating habir causes !
{A) Anpemia

{BY Dental cavity

{C) Ohesity

(D) Al of the shove

The anecient Olympics Game ware held n the
honour of ;

(A) God Zeus

(D) Herc

(C) Theodosius

(D)  Nune of the abave

The word ‘Emotion’ is derived from :
(A) Emopvere

(R} Movere

(C) Cmo

{D).., Nouz ol the above

(2}

=4

10.

1L

et I AP TTLENE iy -4

{A) Fd W Frew

(B) ¥ & Fram

(C) HEfe 7

(Dy S F AT

e i R

{(A) I ¥

() @-@ 13

(C) dinra R

(D) TIACH o

raimame:

(A) AU

(B) 9= @™

© (ymA@
D wi@idas
‘awiledld TR RAR TR
(&) 21 v B

(B).. 12 77 o

(€) 24 I, *"'F"'hi"-"*r-r'Uu o
D uHEmE

R AT R s TS A

(A) @ Bl B ()
B) = AR

(C) W

0y Suded TR

TR Wl Wl 7 A e &

(A) "EH KA @
(B) ¥ &

(€ fefRmmes
(D) I 9 9 5 7
T E T R
(A) EHR R

(R) T&A

(C) w3

o THEAT N A
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14.

15.

16.

t7.

18.
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Ctrus fnits are tich in
[A)
B}
(<
(D)

Vitamin A

Vitamin B

Vitamin D

Vitamin C

Pre-potent reflex theory of motivation was
propounded by :

(A)
(B
()
(1)

Blood is formed by :

(A)

(H)
(C)

(13

The leader wha allows cumgle«:- ydnm :

(A) Democratic. - -

Thamdike
Kohler
Allpart

Paviov

Water

Protein

Salt

All of the above

{B"l  Autouratic

{€)
(D

[.aisser Fair
MNenc of the above

'Geeta Phegat” is related to which game ?
(A) Badminton

(B} Chess

(C} Wrestling

(D) Kabaddi

Learning chiefly depends on
(A) Maturity

(R) Heredity

(C} Colour

D) ﬁ-_:me_p:l'i]'uc above
Psychology is the study of
(A)  Humen body

(B) Human behaviour
(C) Emection

(D) Humanskull © + 7

{(3)

L3,

15.

6.

W Hall 7 WA warg e ¥
(A) TEfi A
iRy fefimB
)y = np
(D) RefF c

IR = qd-wee e R aimfea
frm &

(a) uirlemT 7

(B) ®TEwy

€) i 3§

(D) SiEcid =

o TR

(A} 9HI R

(B) n‘rﬂﬂ#‘

(C)y ¥

(D) IogE wh

Ao ot oot e o 3
(A) rmaites

(B) ofcmies

(C) dEad TR

(M) Togw i 9 i 7
T w5 AW @ g 7
(A Tefres

(B) Y4<@

(C) R

(D) o

G 720 w9 R B
(A) YRUFET W

(B) wrERwT R

(© Ww

(D) v F& B
T aamE

(A) AR YR @

(R) WG 21T H

() #Fre

(D) AFE Wigd wm

P
.
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19.

20.

22,

- (A
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Which diseasc & not caused by polluted
water ? _

(A Jaundice

(BY Cholera

(C) Dyseotery

(D) AIDS

No. of pairs of rib in human body :
{A) 14

(B) 10

) 12

(D) 8

Food pepe 15 related 0 :
(A) Digestive sysiem
(B) Circulstory system
{C) Rospwulory sysiem
(D} Nervous sysiem

Types of joint found In hitman body :
(A) 3 '
Ay 4

© 5
o o6

The joint in the nervous system is called :
(A) Synapse

(B) Myclin Fiber

(C) Axon

(D) Tmpulse

“Tar’ is found in :

(A} Cocaine

(B) Wine

(C} Heroin

(D) Cigarelle

‘Caffeine’ isa:

Stimufator

Marcoties

Both (A) and (A)
None of the above

®
()
(D)

i4)

F-H A Wl 9| § TR O ¢

g
LAl

¢y Offg

() TEd

et w1 & el St oefaet gvi € 2
(A) -4

{B) 10

()

(D) @

FER 0 awia 2
(A) o=t ¥ A
(B) UREFTI TR
(C) w@HI1TA R
my dmdTd

A7 ik o Gt o omft &
(A) 2wE @
BT B
(C) sSAWH™
(D) &TE P

= o3 @ gt Y e amr b
(A) U
(B) TEH, PEW

(C) W]
(D) Fidq

TR QI T R
(A) @@ H

®m Wi
(C) OREaW
(D) frme #

FE

(A) W& werd

(B) iR o _
(€) (A) T (B) T
(D) e & B o T

{A)
(8]

20.

21

22.

23.

25,
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27,

28.

Which blood group is known a ‘Univorsal
Doroc' ?

() A

(u'} 1.01

(c} I.B'

(Dy ‘AB™

Which of the following is nol a muscle
injury ?

(A) Strain

(B) Abrasion

(€) Cu

(D) Allof the above

‘Athletic Foot' is a !

{(A) Disease

(B) Injury

(C) Deformity

(> Nnmgf the above

- mmgg‘ﬁmf

e

30,

3l.

(A) Lack of confidence
(B) Fashion

(€) Both (A) and (B)
(D) Nonc of the above

The process of digestion occurs in how many
steps ?

(A) |

(B) 2

€ 3

D) 4

Steroid is used in :
(A) Doping

(B) Jumping
(C) Swirnming
(D) Chess -

s0a1 -,

(5)

26.

27

28.

20,

3D.

31.

T T WY WIERT PEet ¥ ?

(Aj ‘A.
(B) 'O
(C) 'B’
(D) ‘AB"

Prefim % B - v s & 7

(A) A

(B) U,

) 7=

(D) SUgE T
‘lRd w2 R

(A Im

®) e

© Rl

(D) J9gm W A =¥
At ¥ BT o1 @R
(Ay FefrEm @ o
(B) A

(©) (A) 79T (B) ST
(0) I AR A @

oA 5 few vt f W R 2 7

(A)
(B)

. 2019



4.

35.

3é.

7.

38.

Dnnking water should ke
\A)
(B

(€)
LD}

Colourless
Odourless

Both iA)and (B)
None ot the above

Causes of diabetes -
(A)
(B)
()
(D)

Lite stvle
Heredity
Tension

All of the above

The Ancient Games  were
terminated in :

(A) 324A.D.

{(B) 420A. N

(C) 394 A.D.

(D) 330A.D.

Olympic

Which is a part of respiratory system ?
{A) Kidney

(B) Lungs

(C) Heart

(D) Brun

Insulin controls :

{A) Blood pressure
(B} Rilood sal

(C) Blood sugar

(D) Blood cholesterol

Ram is unable 1 sec in dim light. He is
suffering from :

{A) Nightblindness

(BY Blindness

(C)  Both (A) and (R)

(D) Nore or the above

The hoisting of Olympic games is given to :
{4) Ciy
(B) Country

(C) Capital
(DI Continent

5001 . .

{6).

- ¥
P

i3

34,

36,

38.

i 1 == T A

(A) TR
(B) PR
(C) (A) T {B) &Ml
(0} udE A ¥ B =

e 71 7 £
(A) FEAEAr
@ &

(Cy T8
Erecalic

(D)
YR A0S A9 W S 3Q 70

324% 4
1207 A
394% ¥
3503 #

(A)
(B)
()
(D)

IR R T AR ?
(a)  T&l

(B) «.E%

(C) =3

(D) Aok

Tofem Fafa ovar 2
(A) O o
(B) T TV
(C) H T @)
(D) B FORHF T

A TH AT A 3 e yiany a7 o

(A) voE @
{R) A T
(€} (A) @ (B) ¥
(D) TOfw & W B

AT wel & FrT & ey 2
(A) ¥ER ol ,
(B] 27 B

(C) v 7

(D) #IEm &
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S,

30.

4).

12.

0= m is pbrained from ;
(A)  [oppy seads

(B) Cotan

(C) Cocomut

(0)  Hemp

Air bume disease is -
1A) Measlks

(R)  Smallpox

(C) Tuberculenis
DY Al of the above

Founderof V.M. C. A.is -

(A) 1. B.Nash

(B) . Dr. D. 5. Kythari
(C) H.C. Buwk

(D) R.Cassedy

Which is not the principle of Physical
Education ?

(A) Biological principe

(B) Physiological primgip e ="

- (G)--*-%gicﬁﬁ;ﬁnciple

,=
LY )

43,

(1} Techocal principle
Standa:d truck isof :

{A) 100m

(B) 200m

(C) 300m

{D) 400m

The landing area of high jump will be :
A) 6xdm
B) Sxs5sm
(C) Sx3m
(D) 5xém

The width of the lane in an athietic track is
{A} L20m
(B) 121 m
{Cy 1.19m
D) 1.22m

(7)

19.

30.

41.

43.

44.

45,

W= fe 2
(Al O A
(B) =44
(Cy Rra R
0y T3

TR G T AT E
(A) u95

(B) WH

{C) &m

(D) v wh

YMC.A & 7RITs &
(A) o d) A%
(B) €& w Al
€ ™
(D) I e

m—mﬂmﬂmﬂmmmqﬁg?

(A) “iRdmfre e
(8 wlF fver e
(C) weRT frer
(D) TEIP g

HIG Sey S/ 2
(A) R F
(B) 20 Wy &
() 200 TR 3
(D) 400 MR W/

& @2 N 3 47 @m
(A) 6x4WR
(B) 5x59R
(C) 5x3dnm
M) 35x6M=

(A) 1207w
(8) 1.21 o=
() Li98xw
0) 1229



45.

47,

43.

4%.

50.

51
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Which of the fullpwiag lines is related to

vollevbal! ?

(A1 Boous lipe
1B7 Baulk linc
(C)  Aumoack line
(D) Service line

The longest muscle in human body 15 :

(A) Sartorius

(B) DBiceps

(C) Dehoid

(D) Latismus Dorsi

Who is responsible for sanitation m college 7

(A) Poncipal

(B) Swecper

(C) Teacher and Smdeat
(D) ANl ofthe above

Water percentage in plasma s
(A) 60%
(B) T0%
(C] 80%
(D) 90%

The Vimmin that we gel from sun rays is:

(A) Viamin A
(B) Vitamin B
(C) VitaminC
(D) Vitamin D

In command ‘Set' the sprinter is in which

posiuon ?

(A) Static equilibrium

(B) Dynamic equilibrium
(C) Uncertain equilibrium
(D) None of the above

16, Prefafem 4 R A e dfRENECE
wfany & 7
(A) = wm
@®) %
(C) T
(D) ufta

47, W YR 3 e o) AR ¢
(A) WRERTR
(B) WOoH
(C) I=iEs
() ofeera SR

18, wefraEa i wwE @ R eved &
(A) wraml/weEd
(B) WOE PN
(C) &S T 573
@ SEwE W
(A) 60% -
(B) ™%
(C) 80%
D) 90%
s0. faefm o gt feet & gra B g
Ay fPefma
(8) f¥f= B
© fiefmc
(D) RefR3p

s, ‘¥ v i faer fra Rufg g 8 2
(o) fr SroTIRr
(B) #fRR wrmERn

() e R
(D) IR | o T
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52.

33.

54.

33,

o LAY Féhur—

56.

37

soo1

Leatning process §1arts in hyman ;
tA)  Wher child goes to school
Dy Alerbinh

(C)  Aler tzenage

()  Nong of he atove

Who proposec the “Principle of Leaming" ”
{A) Ruth

{B) Benedict

(C)
(O}

Skinner
Thomidike

Which of the foliowicg cannot be tenined as
penetic ?

{A)
(B)
©
(D}

Complexion

Sprit of Compcerition
Colour of Hair
Colourof bye

Which of the follawing s not the bone of
upper limb ?

i
(B)
<}
(D}

Scapula
Skl

Humerus

How inany bores arc there i the

appendicular skeleton of human bady ?

(A)
(8)
(C)
()

126
213
206
100

Which of the [(oliowing is not a primary
mativation 7

(A) Affection

(B) Hunger

(C)
(0}

Sex
Thirst

(9)

53.

Ly
e

33,

56.

57.

e 0 derm @ uf awe gRl ¢
(A) .TFF # A TP R

(B) AT g

(C; frrmuer @ o2

(©) S 1 W

i3 Rrara o B wiawRRa e ?
(A) w43

(3} T

€ Wm3I

M) SR A

frfafea 4 @ R aEfts W o0 @
wF 7

(A) T

(8) vRvod oY wer
(C) & F 9

(D) 3w & @

ffefe % 3 o sy S A #
w87

(A) WM

(B) Y

(©) =R/a

(D) TFRR

B T D
ftert 3 & 2

(A) 126

| 213

©y 208

™ 100

Freferia % 3 ot maftis aftee A £

(A)
(B)
()
(D}

1587



58, Where were the First Asian Gnmaz held ? 3, wn 7O &S T osmes aEl @O

Qo .
(&) Deity " (A) e
{BY Londun (B ©igH
1Cy Moscow (C) A
(D) Mumbai L I=3
89 How many rings are then: in Olympic Flag ? 59, dfigs yR R e e § 7
(A) 3 (A} 3
B) 4 B) 4
{Cy 5 {Cy 5
® 6 © &
60. Causes of sports injury * 60, Uo-AE F FRE
(A) Musecle weakness (A) A B -sm Y
(B) Lack of kmowledge (B) M 3 =0 | S
{C}  Faulty equipment of sports (€) W AR JITA
(D} Al of the shove D) I 7
6l. Which of the following is a ‘Ball-and- 61. Pefifsy 4 ¥ oo HTFHﬂTHﬁE T
- Sockgf’"jahﬂ? https://www.mjpruonline.com e ? : _'
(A} Hip joint O NI Lo
(B) Knee joint @) Y Hwha ‘
(C) Ankle joint (C) &4 71 gfy-
(D)  All of the above (D) J9qa »f
62.  Causcs of air pollution : 62, Y WA T A |
(A} Smoke (A) 93
(B) Vehicle (B) R
(C)  Indunstries (C) wEm
(D) All of the abovs (D)  IvgEm i
1. The factors mflucncing j[rowth and K3, & o Freia o orfie 0T 9 T 2
development are : S B
(A) Heredity (A} ST S e ¥
(B) Envionment (B) IR .
(C) Both(4)and (B) (C) (A} @1 (B) Dt
(D) None of the above (D) I9LH & & 71d 4

5001 (10). . _ 2049107
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-

63,

69,

70,
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“Yuava Diwas' |5 celebrated wiy

(A)
(8]
(C)
(D)

12 Janvary
12 Febriary
12 March
12 April

Lenrning is i :

(A}
(B)
(C)
(1)

Contlevsous provess
Discontinuous process
Both (A) and (B)

All of the above

The ‘Goitre" is due t ;

(A)
(B)
(€
(D)

The deficiency of lodine
The deficiency of lron
The deficiency of Fat
The deficiency of Sodium

Fapanded form of *“WADA" is

(A)
(B)

(.

™

World Anti-Duping Agency
Wide Anti-Doping Ageocy

Agstey ST e

‘ﬁ"pﬂﬂ’i Z
Nove of the ubuve

Causes of *Doping’ :

(A)
(B)
(<)
(D)

Prassure to perform
Injury

Ignorance

All of the above

Psychological factors affecting performance :

)
(B)
)
(D)

Stress

Anxisty
Aggression
All of the above

No, of hurdies in hurdle caga is :

(A)
()
()
(D)

0
[
I2
8

(11)

64,

63.

67.

68.

70.

“qm fegat. sy amer #
12 A=AT FT

12 B B

(Cy 1 e ®

(D} 12 3@ #

da 8

frer gl
e TR

(©  (A) N B) &
(D) Twm «of)

o g .

(A) RN # A
(B) MM A FhA
Cy = £IHP
(D) Az © = |}

‘WADA' W fieaiRa s 2
(A) o Tt o
(B) TFE - ol
(C) o= TRl i Jififn
(D) vyded f 77 B
‘i o dw 2

(A) ¥R ¥ 2 e <4
(B) e

©) @A
(D) TWw

Geiiq w1 Tfa w3 T WAy e
(A)Y ©9

) R

(C) IETW

(D) F9gam i
mﬁgﬁ%ﬁﬁﬂmzﬂﬂt:

(A) 10

Ry 11

© 12
() 8

(A)
(3}

(A)
(B)



71.

73.

T4.

75,

1

Cochles is found in :
(A} Mouth
(B} Ears
(<
)

Eyes

Nose

Aim of Physwai Education i
(A)
(B)
(C)
(D)

Physical development
Menal development
Social development
All round development

“Takshashila™ in ancient time was famous
for :

(A)
(8)
(C)
(D)

Sports ground m “Sparta* were called
(A) Pasdutribes

(B) Crypten

(C) Platanistas

(D) Dedascaleum

Horse nding
Archery
Chariot racing
Wirestling

The word “Athlon” originated in
Rome

Greece

China

India

(A)
(B)
(€)
(D}

Motic of “National Cadet Corps™ is

Veerta Aur Yivek
Bharat Maia Ki Jai
Vayam Rakshaamah
Ekta Aur Anushasan

(A)
(B)
(€)
()

(12)

73

76.

FrEta g arer ¢
ol

T 4
@ A

6 Y

[-"'-}
iy
(€
(N}

i e = @a #
(A) ART G
(B) WAET fr==w
(Cy wmias @
(D) w e

W w9y o

(A) T & fam
(d) IR B Fae

(C) waE#fm
(D) xft & fam

WIS # W9 T e A
(A) -~ FRRTIE

By mrfoa

(C)  wrRfs

(M) SR

THA U T IR L
(A) V-4
By TIv 4
(€ AN
(D) = [

'W?ﬁﬁﬁ?'ﬂmﬂmiz

e IR R
AR AT &) o
¥ %A
Wmﬂmﬂq

(A
(B)
(C)
(D)

2019



77 The highest award given to Sports Coaches in
Indha is
(A} Arjuna Award
BV Khel Ratng award
2 Al Vishisia Jiv

(M Dromacharyn Award

78 Father of Naturalism Is :
(A}  Arislolle
{3) Puaviov
{C) Rousseay
(D) Platy

9. Which of the following does not belong to
the category of ‘Dope’ 7
(A) Erpogenic aid
(B) Calfeine
(C) Nicotine
(D) Al cfth_: above

i
T e, !

. 80. ln-r.'.H;.'ldi‘olhil"nﬁ"‘" we use for
treatinent.

(A)  Water

{BY lce

(Cy Wax

{1 Hear

Bl. Ligament coamcts *
(A) Bone 1o bone
(0) Beneto muscle
(C} DBlood to curtilnge
(D) Cartilage tu muscle

82.  “Healing' process begins with ;
(A) Inflammation
(B) Coagulation
(C)  Repair phase
(D)  Nane of the above

5001

{13)

7.

78.

79.

80.

31.

82

WA 4 AT Tree T W omma e
TEOR £

(A) T TR

(B) UH ¥ (IR

() xfa Rz =R

(D) <hTER R

Golr e
(A) W
(B) TR
(C) wW
L) @

frefeftan & 4 &9 w9 & of ¥ =
g ?

(A) Titafe w=mom

B) E=

(C) s

(D) wvfm & |
TR & g W SR
faq = #)

(A) wt

(8) TI®

(C) WM

(D) Wt

mqﬁm%

(A) Ry a3
(B) e &t digyeht
(©) & ¥
(D) e B st |

(A) oA

(R) wwEe |

(C) TP WO §

(D) udm & ¥ o T
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ai,

86.

87,

iR.

“Trial and Error’ mcthod of leaming was
given by :
{A) Thomdike

(B} Paviev

{(C) Kohler

(D) Boaz

Carh:hy:h-m:e Imdiug hﬁ]ps :
(A) Mamathon Runner

(B) Boxer

(C) Sprinter

(D) Power lifter

HIV wvirus causes :

(A) AIDS

(B) T.B.

(C) Heartdissase

(D) Dengue
The distance of “Manthon™ run :
{(A) 40km

(B) 45km
(C) 42.195km
(D) 425km

No. of the judges in hoxing :

(A) 2
B} 3
© 3
(D) 4
Who prepounded human theory ol leaming ?

(A) Maslow
(B) Wundt
(C) Geslai
(D} Thomdike

£

83.

87,

8.

\'.
%

._\--h
T Tl

e @ T R AR A

(A) uEEE 3
(By EEE A
() DER A
M) @A

THTEERT T qas vl £
(A) TREA gEE A
(B) TSI

(C) ©[EE
(D) AN forger &
vd, 3¢ 4 T T %ﬁi@r?‘mﬁl

(A) Ted
(B) &R
(Cy #<99

@) =4

S
“IRra" a‘la'a?r{ﬂz‘rchi
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8§49, Wliluich_-.‘vhr:ilirn dicd tvhi[ci:lli}'illg Chuuga 7 a9. frw FRem wwed A 9 A Heid g

T

Ay Quishuddin Aibak (A) TR T

(0} frueenish (B) TREHT

(C) Mohammed Tughlaq () A s

(D} Nore of the ahove (M '@T{iﬂ q & v T8
90.  Which process gocs thought the 1ife ? 90. &9 YW T ams TAAT B 7

(Al  Growth (Ay &

iB) Development (B) famr

{C) Growth and Devclopment (C) .‘-'ﬁg; a4l Qe

{D)  Nooe of the above (L) T # | P T
9.  Aim of the sporlk trainiog is : 91, WA AT a1 St 2

- (A) . Physical expertise (A)  uriRE SEa

{R)  Tactical skills (B)  Im ew

{C) Technical skills - (C) Tl o

(D) All of the ubove (D) wage i

- 92, ergmalﬂiyﬁfm re i 2 game of 9. TRl oo feed e
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(A) 6 ' (A) 6
(B) 7 By 7
(11 < 1 .
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93, Which of the following diseases is not caused 93, freifafigy & ¥ wi-m a7 g{fﬂﬂ kit &
a}' contaminated water ? ﬁﬁT .

(A}  Malarin (A)  wefm

(B) Jaundice (B) e

(C) Skin disease () w3

(D) Nighthlindoess ' (D) wHf
94. _ The full form of N, C. C. is: 94. N.C.C. 31w A% % -
W) Natowal Cadet Care (A) 9 T B

(B) Naticoal Commoan Club : (B) A9 B9 w4

(C) Natlonal Cadet {orps (C) *T7A BT oN

(D) Nutiomal Cordiac Carc _ (D) TR T B
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95.

96.

97.

98.

99.

100.

5001

“Discus” is related to which sports 7

(A) Boxing
(B) Chess
(C) Athletics
(D)  Golf

Weight of the kidney in human body is :

(A) 140 gm
(B) 80gm

(C) 150gm
(D) 100 gm

Which of the following Vitamins helps in
clotting of blood ?

(A) Vitamin A

(B) Vitamin B

(C) VitaminK

(D) VitaminC

What is Decathlon ?

(A) 10 km race

(B) Part of Marathon

(C) 7 items competition
(D) 10 items competition

High Altitude Training develops :
(A) endurance

(B) speed

(C) strength

(D) flexibility

Movement of knee joint :

(A) Abduction

(B) Adduction

(C) Flexion
(D) Supination

(16)

95.

96.

98.

99.

st e OF @ FANCE

(A)  Eard
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() oz
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(A) 140 TH
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(C) 150 7T
(D) 100 TH
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¥ EES 8 7

(A) faefa A
(B) fefm B
(©) fif= K
(D) fReiff C

femmmt @ 2 ?
(A) 10 O AT
(B) R BM
(C) 7 rged & whonfirar
(D) 10 3geH @ S

=g HUTS YR Jem §
(A) EETHeRT

(B) TR

©) i

(D) @

100. A W Ty & 2

(A) 3uEdA
(B) df¥ad
(C) pEA

(D) oA
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